Evaluation policy for assignment 3
Question 1:

a) No comments/indentation: -0.5
b) Loop is not used for conversion: -0.5
c) correctness of the code running on given testcases:-1

Testcases:
1) Input: 0576 Output: 675

2) Input: -7802 Output: -2087

Question 2:

a) No comments/indentation: -0.5

b) Prints final pyramid with proper space among * : -0.5
c) correctness of the code running on given testcases: 3
Testcases:

1. Input: 5 Output: Proper pyramid
2. Input: 6 Output: Proper pyramid

Question 3:

a) No comments/indentation: -0.5
b) Input degree is taken as float, input threshold is taken as float: -0.5
c) Correctness of the code running on given testcases: -3

Testcases:

1) Input degree: 30, Threshold 0.0001 => output 0.499772
2) Input degree: 30, Threshold 0.01 => 0.499445
3) Input degree 45, Threshold 0.001 => 0.706861



